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SECTION-A (4x4=18)

Answer any FOUR from this section:

s

o)

Define and explain the term 'previous year. Mentidn.the rule of previous year and
bringout the exceptions to the rule.

S

4 4 M.
Writa an explanatory note on 'assesses' and ‘pet *;{""\ %

Explain 'tax-free perquisites'. . ﬁﬁ“*‘N

Simon, an American, came to India on 20th Dé‘@g-ym;r 2002. Hewas in India till 1Cth
JanLary 2005 when he went back to U.S. ﬂ@t’i@ar e to India taking up an employment
in a French concern on 16th Apnlgﬂﬂﬂ’“«fi& /as sent for 6 months training to U.S.A.
on 1 October, 2005. {

He wss transferred to London ’b\k nr. Oth July 20086.

rind =t his residential s{a Fui% e previous years 2005-06 and 2006-07.
Rakesnretired on 31 Q 2006 after serving ior 30 years, Fmonths and received
a gratiity of Rs.3,60 OQ{} is last drawn basic was Rs.20,600 and D.A. at 30% of
basic 40% of DA is considered for P=). The incremgnt of Rs.250 falls due on

1st August every year. Earlier he had received a gratuity of Rs.20,000 which was
then exempt.

Rakesn is covered under Payment of Gratuity Act 1872. Find out taxable gratuity.

Sumar:ith furnishes following particulars;

Basic : Rs.12,500 p.m.

DA :  50% of basic (70% enters P.F.)
Beonus : Rs.12,500

HRA 2 Rs.2,800 p.m.

Actual rent paid for the house in Delhi. Rs.3,000 p.m. till December 31, 2006 and
Rs.3,500 p.m. thereafter.

Compuie taxable HRA for the previous year 2006-07

Contd... 2
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SECTIOM B (4x8=32)

Answer any FOUR questions.

7
8.

9.

/
10.

i 7 i

Cefine the tarm ‘Income’ bring out its characteristics.

Write an explanatory note on Statutory Provident Fund and Recogniz 2d Provident
Fund,

Explain the rules governing residential status of individual and HUF assessees.
Sanath retired from service on 31 December 2005 after serving for 30 years and 8
morniths. He had @ months' aamed lzava to his credit which he encashed and received
Rs.30,000. His basic as on 1-1-2008 was Rs.14 500 and the increment of Rs.500
fell due on 1st October. T4 was fived at Rs.8,000. 50% of which is considered for
retirement benefits. He recaived commission at 1% of turnover of Bs &0 lakh for 10
months. He commuted 2/ of his pension and received Bs.80,000.

Compute taxable leave encasgme=t and taxable commuted pensior. (assume no
gratuity is received).

Saleem furnishes the ‘ﬁﬂ.owmg parficulars:

Basic :  Rs.18,500 pom. %

DA © 40% of basic (3 \Qt rs PF)
Bonus © 2 months! bE(J
Commission : e, 25,001

Entertainment Allowance s. :

Company prowde-:* him a rent freeNgo @, the FRV of which is Rs.60,000. Cost of
furniture is Rs.58,000 (WDV is Rg™85)800). Citv population is 14 lakk:.

He was a member of URF| to Whi " g contributed 12% and the gomysany 13%. The
PF was recognised o gcenber 2006 and ine transfgrrec balance was
Rs.1,40.000 including 39+U40 1 tereat.

Find out the perquisite,vallg 2 RFA and taxable PF contribution by tl:e employer.

From the following pariicOlars compute deduction u/s 80@":

As.
a) Contribution to RPF (Employer S contribittion Rs.22.000) 16,600
b} PPF deposit (Interest on PPF Rs.2,650) 12,000
¢) LIC premium paid {own lifg) 21,400
d) LiC on employed scn's life 15,200
e) LIC on mother's Iife 3,000
fy  NSC purchased 3,000
g) Interest accrued on N3SC 2,570
h) Interest received on NSC 4160
iy Tuition fee paid for children 16,350
i)  Donation to school where his children study 5,000
k] Repayment of housing loan (including interest Rs.17,000) 40,000
[} Depositin SBl for 1 vear 10,000
Contd... 3
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SECTION C (16X2=32)

Answer any TWO questions.

13. Define and explain agricultural incon‘(e Explain the present position with an example.

14. Compute the Total Income of Mr.Ravi Kapoor, an Indian Citizen, from the following

particulars, if he is (a) Ordinarily Resident (b) NOR (c) NR for the Assessment
Year 2007-08:

15,

a)
b)
c)
d)

Rs.
Salary received in U.K. for services rendered in India 1,10,000
Salary in U.K. for services rendersd in UK. 4,12,000
Agricultural income in UK (50%.is remitted to India) 1,00,000
Profit from purchase-and sale of standing erep in India
(through an agent) 20,000

Business Income in UK, controlled from India (Ya.reseived in India) 1,20,000
Business Income in Chennai, controiled frf:-m;ln@égung

(1/3 received in Hongkong) | 1,05,000
Dividend received from British Companj \ 80,000
income from house property in Londo 35,000
Intergst on deposits with SBI Lo bra ch 30,000
Interest on deposit with Bom of Foreign Bank

125% remitted to London} E ;\ 65,000
Fast untaxed profits bro dia in the previous year 20,000

Gift from a friend in %ﬁ ed in India. 54,000
g particulars for 11e assessment year 2007-08:

Ravindran furnishe %
Basic Rs.16,800 p.m.

DA Rs.4,000 p.m, (30% enters PF)

Dearness Pay :  Hs.2,000 p.m. (30% enters PF)

Conveyance Allowance ;. Rs. 600 p.m. (50% spentfor official purposes)
Deputation Allowance : PRs.300.p.m.

Servant Allowance : Rs.500 p.m.

Education Allowance : Rs.200 p.m. for one child.

He is provided a rent free house the FRV of whicii is Bs.30,000 p.a. Cost of furniture
supplied is Rs.80,000 which includes a Laptop costing Rs.38,000. His wife was
treated in a private hospital. The expenses "came to Rs. 20,000 and the company
reimbursed Rs.16,000.

He contributed 12%%% of salary to PPF to which the company contributes equally.
Interest credited during the year amounted to Rs.12,750 at 10% p.a. He took a
vehicle loan of Rs.3,00,000 at 7% and paid Rs.14,000 as interest (SBI rate 8.5%).

Company gave him gift coupons and he purchased articles worth Rs, 10,000 out of
the coupons. The co. paid the health insurance premium of Rs.2,000 and paid the
club bills of Rs.4,000.

Contd... 4

Visit www.shaalaa.com for more question papers,



BCMCMC 205 Page No. 4

186.

During the year he paid Rs.1,800 as profession tax, 14,500 as LIC premium, repaid
heusing loan Rs.34,000 (including interest of Rs.14.000), deposited R3s.25,000 in
PPF and invested Rs.30,000 in Equity Linked Savings Scheme of ICICI.

Compute taxable salary and deduction w/s 80C. (City Population; 12 lakh)
Mrs. Suman furnishes the following particulars:

Basic ¢ Rs.13,500 p.m.

D.A. . 100% of basic (50% enters PF)

Dearness Pay : FAs.700 p.m. (50% enters PF)

Tour Allowance . As.1,000 p.m. (80% is spent for official purposes)
CCA *Rs.200 p.m.

Conveyance Allowance : [s.1,200 p.m.

She took 2 months salary (Basic + DA) as advancg™y Fabruary 2007 for meeting
education expenssas of her son.

She contributed 12% of her salary tc RPF hieh ‘the company coritributed 13%.
Interest credited to PF a/c at 11% amounted to'Rs

'33,000.

The company gave her a rent free h , it paying a rent of Rs.3,000 per month.
Cost of furniture supplied is R .40,%0 e company sold her acar ior Rs.30,000

and the WDV of the same was'Bs.

Her brother's daughter is ge i

5 ifee education in the school run by the company
and the expenses amounf (0.Hs

250 p.m.

rivate hospital. Expenses came to Rs.20,000 and the

Her husband was tre
company met the % e extent of 3s.17,000.

During the year she made the following payment and investments:
Rs.

LIC {own life) 14.500
LIC (husband's life) 20,400
PPF deposit 10.000
Post Office SB deposit 18,450
MEC purchased 16,000
Housing loan repaid

(includes interest Rs,10,000) 25,000
Professional tax paid 1,800
Health insurance premium paid 2,000

in February, 2007 she received a gift of a wristwatch costing Rs.5,300 from the
company, Italso paid her life insurance premium of Rs.3,500 on a policy of Rs.50,000.

Compute faxable salary and deduction w/s 80C.

L
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